AN

g%
I

1. ¥4
kG4 AN TAEEERETE)IIU AV L— I R BN &7 D 1 %5
[T SEILRD B S T E N

2. EHEAR

1) FHEI4 SCILEPEE ST R A R
2) JBATHIM 267 HFH H &% 74 67 6H

E S 8% 2H2TH

3) PN

4) EBNE

- Etzz@y  AbkEt 5w R



i
m
=
?jll
I

Mgk | BN TAEEEFIETE)IIU AV L— P RAEIH &2 D 1 (% B HEER
H H FEYE U
TEHA - LfE - R =AY VA ¥ & & A OB N AR
e S & =X 440, 000
FKAER & = 440, 000
3 A 2V 440,000 | 3RAKHERIEBHE (LXALVFIZLD
) 5 km
HuTE ) £ = 18, 462, 853
LA & = 44, 154
Bt 0 5 2V 44,154 | i E ((EZEETE)
1 e
IR IT R A 2V 18, 418, 699
SR AR oy 18,418,699 | UAV L — W& (MKHFH L~
1000) (1.12 )1 km2) =
A A - JE EIFEO. 5~ 1. 6km2
FHUX Sy ¢ Bl - K
i P =X 758, 824
AT & =X 758, 824
TA0) 1 0 2 =X 228,451 | Hiipk
(5.2 )1 (km K
ZRITCRBET — & R R B SRR =X 530, 373 | ZIRICABET — & ]| AR i X1 E sk
35 ia]
ZIRTCSRET — & ] R i e W T
% 5.2 km
SRR R B R
TARERE R - EREEEGE
YERK 1 K
JLiE = 400, 870

-1

=R oS KN o723 S



Mgk | BN TAEEEFIETE)IIU AV L— P RAEIH &2 D 1 (% B
H H
HE - T4 - f5] & KA BN
i@ = 400, 870
ees = 265,450 | ¥TAY
1 =
TR A : 3lE
N BR A R R L R R =X 135, 420 | ZNBH AR S VERK 2
1 =
[ERETES = = 257,913
RS T¢ = 257,913
i AL = 92,913 | k¥ (i E - 5i08)
1 =
%%Eﬁ%u%{?ﬁi% it: 165, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 =
et ey = 713, 440
Hf s By =X 713, 440
Bl R T =X 713,440 | RS EL
1 =
[EXERIIFSE =X 21, 033, 900
GiEERIIESEE ¢ =X 14, 256, 100
At =X 14, 256, 100
Milf=er i = 35, 290, 000

=R oS KN o723 S



